MASTER / EXCELLENT JUMPERS WITH WEAVES
MILE HIGH GOLDEN RETRIEVER. CLUB

* SATURDAY, JULY 1, 2023
* GREG FONTAINE
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PREMIER JUMPERS WITH WEAVES * SATURDAY, JULY 1, 2023
MILE HIGH GOLDEN RETRIEVER. CLUB

* GREG FONTAINE
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OPEN JUMPERS WITH WEAVES * SATURDAY, JULY 1, 2023

MILE HIGH GOLDEN RETRIEVER. CLUB

* GREG FONTAINE
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MOVICE JUMPERS WITH WEAVES * SATURDAY, JULY 1, 2023

MILE HIGH GOLDEN RETRIEVER. CLUB

* GREG FONTAINE
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TIMEZ2BEAT * SUMNDAY, JULY 2, 2023
MILE HIGH GOLDEN RETRIEVER CLUB * GREG FONTAINE
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